213

368 363
6L )6 6L )6 9L 364 19 6L )6 9
1N23 5.0 C=377 1N22 95.0 C=372 TNZ9 28.0 C=378 1N24 95.0 C=222 —
5.5 356.8 5.5 5.5 352 5.5 5.9 352 5.9 5.5 202 5.5 5.9
89
367.8 363 363.8 213
L
VT13a (11 unidades) VT14a (11 unidades) VT15a (9 unidades) VT16a (4 unidades) VT17a (11 unidades]
(L13) (L14) (L15) (L16) (L17)
ESC 1:50 ESC 1:50 ESC 1:50 ESC 1:50 ESC 1:50
1 N15 TR 12645 C=367 1N12 TR 12645 C=363 1 N16 TR 12645 C=293 1 N5 TR 08644 C=163 1 N2 TR 08644 C=183
e===oooo e==oo oo oo
121 367 )12 o 1N25 m%w c=372 0 o 1N28 NMN C=302 0 ® Ammw = ° ® e Ammw C=192
1N32 210.0 C=386 oo L= o0 %= oo k= oD e=
75 3523 75 5.5 352.3 55 5.5 282.3 55 5.5 152.3 5.5 5.5 172
367.3 363.3 293.3 . 163.3 . 183
VT6a (14 unidades) VT6b (1 unidades) VT7a (9 unidades) RELACAO DO AGO
(L6) (L6) CY] 15xVT1a 4xVT2a 11xVT2b
ESC 1:50 ESC 1:50 ESC 1:50 VT34 VTaa 1V Toa
14xVT6a VT6b 9xXVT7a
1 N8 TR 12645 C=364 1 N9 TR 12645 C=372 1 N3 TR 08644 C=133 VT8a 12xVT8b 11xVT9a
===, 45xVT10a 15xVT11a 9xVT12a
133 VT12b VT12¢ 11xVT13
9L 364 19 9L 372 j9 6= 6 11xVT14a 9xVT15a 4xVT16a
1N29 98.0 C=378 1 N30 08.0 C=386 1N19 95.0 C=142 11xVT17a 4xVT18a
5.9 352 5.9 5.9 360.2 5.9 5.5 122 5.5
RESUMO DO A
363.8 372 ! 133 } SUMO DO AGO
ACO | DIAM | C.TOTAL [ PESO +10%
VT12a (9 unidades) VT12b (1 unidades) VT12c (1 unidades) (mm) (m) (kg)
(L12) (L12) (L12) CA50 8.0 155.1 67.3
ESC 1:50 ESC 1:50 ESC 1:50 10.0 425 28.8
CA60 5.0 4741 80.4
1 N12 TR 12645 C=363 1 N13 TR 12645 C=366 1 N14 TR 12645 C=371 TR 08644 264.7 214
TR 12645 383.2 375.2
PESO TOTAL
- 363 6 61 366 6 6. 371 6 (kg)
1 N25 5.0 C=372 1 N26 ¢5.0 C=375 1 N27 5.0 C=380
CA50 96.1
5.5 352.3 5.5 5.5 355.1 5.5 5.5 360 5.5 CA60 669.6
3633 366.1 871 Volume de concreto (C-25) = 0.00 m®

Area de forma

=0.00 m*




